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NAMES, FORMULAS AND CHARGES OF COMMON IONS

Positive Ions (Cations) _

Negative Ions (Anions)

Ammonium NH,* Acetate C,H,0,.
Copper(D) Cu* Bromate BrO,”

1 (Cuprous) Brbmjde Br*
Hydrogen H* Chlorate ClO,~
Potassium : K - Chloride Gl
Silver ~ Ag* Chlorite Clo,"
Sodium Na* Cyanide CN-
Bariam ‘ Ba?* Flooride » F
Cadmium ca? Hyaside il i
Calcium Ca?* Hydrc_»gcn carbonate HCO,~
Cobalt(IT) ' Co?* (Bicarbonate)

Copper(IT) Cu?* Hydrogen sulfate HSO,-
(Cupric) 1= (Bisulfate)

Iron(TI) Fe?* Hydrogen-sulfite HSOj5”
(Ferrous) (Bisulfite)

o Lead(IT) ) pp2* Hydmxide_ OH-
Magnesium Mg?* Hypochlorite ] CIO:
Manganesé(II) Mn2* Iodate i
Mercury(lT) Hg?* LG =0

(Mercuric) ,Nfl:rfale NO3_
Nickel(II) Ni2* S oo,
Tin(ll) ' Sn2* Perchlorate CIO[_
(Stannous) - Permanganate © MnQO,
Fine Znl* - Thiocyanate SCN-
Aluminum: AR+ Carbonate CO,*
Antimony (I11) Sh#* Chromate GG~
Arsenic(I1I) As?* Dichromate €07
-Bismuth(1I) = . Bi** Onalate C,0"
3+|  Chromium(III) e 2= Oxide ()
- Iron(TIIy | "Rt Peroxide O
- (Ferric) ' Silicate - 80,
* Titanium (T1) Ti* Sulfate 50,7
(Titanous) - Sulfide $
) Sulfite S0,%
Manganese(IV) Mn**
: Tin(IV) - Spt+ Arsenate AsO,>
4+ (Stannic) ' Borate BO,*
Titanium(IV) Ti** Phosphate po >
('I'llanic) ' 3- Phosphide p*-
- - Phosphite PO >

5if ", Antimeny(V) o S

Arsenic(V) As>*

296 -



Length

SI unit: meter (m)
1 km =0.62137 mi
1 mi = 5280 ft
= 1.6093 km
1 m=1.0936 yd
lin. =254 cm (exactly)
1 am =039370 in.
1A=z100

Mass

Sl unit: kilogram (kg) _
1kg=10°g =2.2046 Ib
11b =16 0z =453.59 ¢
Lamu = 1.66054 x 10-2 kg

Temperature

SI unit: Kelvin (K)
0K = -273.15°C
= —459 67°F
K="gi97315
aC =0 PF - 35
°F= £(°C) + 32

Useful Conversion Factors and Relationships

Energy (derived)

ST unit: Joule (J)
1]=1 (kg-m2)/s2
. 1J7=0.23901 cal
=1Cx1vVv
1cal =4.184]
TeV=1602 % 10-197

Pressure (derived)

Sl unit: Pascal (Pa)
1Pa=1N/m2
=1kg/(m-s?)
1 atm = 101,325 Pa

=760 mm Hg (torr)

= 14.70 Ib/in2
1 bar = 10° Pa

Volume (derived)

SI unit: cubic meter (mj)
1L=10"3m3
=1dm3 =
=10 em3
= 1.0567 qt
l-gal :A4 qt
=3.7854 L
lam3=1mL
1in3 = 16.4 cmd

o —

Atomic mass unit

_ lg
Avogadro’s number N,
Boltzmann’s constant k
Electron charge e
Faraday’s constant F
Gas constant R
Mass of electron e
Mass of neutron m,
Mass of proton my,
Pi s
Planck’s constant h
Speed of light c

lamu =1.660539 X-10~% kg

=6.022142 X 108 amu

= 6.022142 X 103/ mo]
=1.380650 X 10-2]/K
=1.602176 X 10-19 C

= 9.648534 X 10 C/mol |

= 8314472 ] /(mol-K)

= 0.082058 2 (L-atm)/(mol-K)
=5.485799 X 10~* amu
=9.109382 X 10-31 kg

= 1.008 665 amu -

=1.674927 x 10~¥ kg
= 1.007 276 amu
=1.672622 x 10-7 kg
=3.141592 6536
= 6.626 069 x 10345

= 7007094 C0 v 118 __ s




